
EE 548 Homework 4 Due: T 10/08/2013

1. Find a closed-form solution (including multiple solutions) for the inverse kinematics
of the Adept Cobra s800 SCARA for which dimensions were given in a handout and
DH frames provided in class. Also, test your inverse kinematics solution(s) on the
following cases and provide resulting numerical values for ~q = [θ1, θ2, d3, θ4]

T :
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(b) Te =
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2. Find a closed-form solution (including multiple solutions) for the inverse kinematics

of the Standford Arm for which dimensions and DH frames were provided in a
handout. Also, test your inverse kinematics solution(s) on the following cases and
provide resulting numerical values for ~q = [θ1, θ2, d3, θ4, θ5, θ6]

T :

(a) Te =


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(b) Te =
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